S ME{E YD
Ha: I YSH (S

S - a =

oy
H
fo
o
S

e Holed (e &
SH BB (BH) - MR AY ggi) @(LJME,;L%% HDE2
JdE235 9,361,627 7,379,230 1,982,397
= 3,574,870
== 657,830
Al 5,128,927
Wolstde2d (3 25/U71) 6,481,691 4,746,265 1,735,426
= 3,089,910
= 318,612
Al 3,073,169
ores 6,481,691 4,746,265 1,735,426
= 3,089,910
= 318,612
Al 3,073,169
HHANAXNSX HEH EX 214,900 142,000 72,900
= 107,450
= 21,490
Al 85,960
402 QItXE01A 214,900 142,000 72,900
= 107,450
= 21,490
Al 85,960
02 QIAX2AILEZ(0IETHE) 214,900 142,000 72,900
= 107,450
c 21,490
Al 85,960
= Ol & 214,900 142,000 72,900
= 107,450
& 21,490
Al 85,960
OFAINAXNSA HEH X
214,900,000 * 14! 214,900
= 107,450
= 21,490
Al 85,960
HoIAs=sda 2 Mo 2e 2YH(EX) 114,000 219,000 A 105,000
= 22,500
== 34,500
Al 57,000
201 282 A Y| 69,000 69,000 0
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SN MEIEP D
MM YIS ABN(BBEBS/UDI)
chel: oI8A S
% = = 0l &FoH & S T 0] AFoH ~
A3 .S (3H)- - HEAY - HAS (ZE o) (I o) Hns2
201 2Lt HH| < 34,500
Al 34,500
02 2E2=29H| 69,000 69,000 0
< 34,500
Al 34,500
=0l At 69,000 69,000 0
< 34,500
Al 34,500
OWIINE=zY 22 29
13,800, 000 *50H A 69,000
[ 34,500
Al 34,500
401 Al&HI LR 45,000 150,000 A 105,000
= 22,500
Al 22,500
01 Al&dl 45,000 150,000 2 105,000
= 22,500
Al 22,500
=0l A 45,000 150,000 A 105,000
= 22,500
Al 22,500
OWINE=HI| &X (=8t PM2.5)
45,000,0002! x 14! 45,000
= 22,500
Al 22,500
WIINESSEY L M20 222 (XHA) 53,100 41,526 11,574
201 LBt AH| 51,700 39,977 11,723
01 AbR2t2lHl 21,400 9,677 11,723
= 0] A 21,400 9,677 11,723
OWIITNES=TY 29 A2E 2
500,000 x50 A *33] 7,500
Ol ZE 84 L A2E 12
500,000 43| 2,000
OUWIINSESEY =HI|J| BEZHA =24
2 1,700,0002 70 A 11,900
02 22244 30,300 30,300 0
=0 & 30,300 30,300 0
OJIeEAMzZE 2 WINASESHY &I
[=3= 250, 2002 50 A 128 15,012
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SN MEfEH D
Bu: (OISR A(BFLS/U))
el OoIE A (2@
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES =z T BlRE2
omJlegEzgs ¥ HINSSEY S
RIS 34,800 54 A +12& 2,088
OWIIYEZH 29 L R4 22
1,100,000 =10 A+ 128 13,200
206 M= 4l 1,400 1,549 A 149
01 M=l 1,400 1,549 A 149
= Ofl & 1,400 1,549 A 149
Oz dZE 25 F2 450,000 24 900
OUIIN=s==EY 28 +2 250,000 »2= 500
ME Dol 2t 41,671 46,219 A 4,548
101 elAdl 1,617 1,458 159
04 JIZHZEXNSES 1,617 1,458 159
= Ofl &F 1,617 1,458 159
OBZQANTH LAIAS Q21| 1,617
—-JlEas 66,8003 x8H 32 1,604
—MHEER 1,604,000& «0.8% 13
201  LEL2H 27,235 27,235 0
01 AFR2Zeldl 20,925 20,925 0
= Ofl &F 20,925 20,925 0
ONFHIIE RSEIIHel vlg
200,000& «5& 1,000
OBANE YLFT S20HAY
8,000& «3H 44l x 128 1,152
O+EQANT QAT AAL22
130,000& * 1=l x 102l 1,300
OFQ ot&+ +TAN 222
550,000& *123] 6,600
ONERL(EY %) QYT AM2LE
50,000& 123 600
OMEHY ALEZ S2OHAY
8,000 «3H »4A! 128 1,152
O FHI(WEINA, AS) BEAMN 44
=4 421
— e =3I 115,000 »2CH 13l 230
— 2utstetas EFD| 116,000 = 1CH =13 116
25 £F7| 15,000& »5CH * 13 75
O4+3, 952 S#Z2AND Y= 7
100,000& »7H * 13 700
OIS BSMNY ELS M 8,000
—2cidtE HH 100, 000& *50H 5,000
—=22= ¥ 1,000& =3, 0000H 3,000
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SN

AEfEE

F: oI EN(B#BES/UII)
o2l toIEd (o2&
x s . 0 & o & & 0 A o -
SA - B (SH) - HRAY - BAES =z T HRE2
02 =524l 6,310 6,310
= Off & 6,310 6,310 0
OH=FUI(HENA, A8) AL 900
— e =&ED 200, 0003 *2CH 13| 400
— YASEA SFI 200,000 *1CH* 13 200
- a2 58D 100,000 *3CH*13] 300
OthiEgA XN S@EXeE UsiA & &
B2 PR == 62,5003 *43| 250
OtiEgs NE ¢4EsxeE A2
280,000& »12& 3,360
OiEgs N =Xz 22l
300,000& «63] 1,800
202 Ol 5,700 5,880 A 180
01 3L I 5,700 5,880 A 180
= 0fl & 5,700 5,880 A 180
OthEgs NE o=H
20,0002 x3H 22U 128 1,440
OMasZR SE=0I
20,0003 x3H 2 128 1,440
o1& AME(UI], =8 EY 8x 8) 2<
T ALY 60,0002 1 3«73 1,260
Oda Y #F3YUE g3 NEHS
60,000& x2H 83| 960
Oxga, s8N 2HA g & 23
& A 60,0002 x2H x2 13| 240
OUILQIAJAXTA W= & |34 &4
60,0003 1«63 360
206 M=4l 6,918 7,662 AT44
01 T2Hl 6.918 7,662 AT44
= 0f A 6,918 7,662 AT44
OHEANE QEEHAM AlZMFHE 2 1,856
- 224 2,000& *300H4 600
- ZERaE 8,000& 1574 1,256
O=Z223 AMAXe gHAZTAL 3,890
- SH™2AH 60,0003 «8& 480
- ExX 173,000 10 A 1,730
— QUAA 35,0003 *48m 1,680
OEY QIAZE MHzY 2
2,000 x4 Z *344 272
O2AF AMESUHFEZS HSHH 2
20,0003 4504 900
301 LEtBNE 201 684 AN 483




SN

X XH -
S =

AEfEE
o2 (22s/001)

o2l toIEd (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
09 FALAHIEAZ 201 184 17
= Off & 201 184 17
O Q2SS sAMEBNEEHIETH AL EL
25,1003 x2H %43 201
SdiolE 1 & XMel NIAY 577,920 443,520 134,400
= 288,960
= 57,792
Al 231,168
402 QI2tXp=201H 577,920 443,520 134,400
= 288,960
= 57,792
Al 231,168
03 QIZtRAEALS HI 577,920 443,520 134,400
= 288,960
= 57,792
Al 231,168
= Ol &t 577,920 443,520 134,400
= 288,960
= 57,792
Al 231,168
OFH=dO0lE MaX&A
3,360,000 1720t 7 577,920
= 288,960
& 57,792
Al 231,168
SIS ES AL 3,382,000 2,100,000 1,282,000
= 1,710,000
& 152,000
Al 1,520,000
402 QIZ2EX=0l M 3,382,000 2,100,000 1,282,000
= 1,710,000
= 152,000
Al 1,520,000
02 QUAT2AEEZ(0IXTHA) 3,382,000 2,100,000 1,282,000
= 1,710,000
= 152,000
Al 1,520,000
= 0l & 3,382,000 2,100,000 1,282,000
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SN

X XH -
S =

AEfEE
gorsgtz=ed (&

gl

oy
H
fo
o
S

e Holed (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 1,710,000
== 152,000
Al 1,520,000
O&™IIXSA ¢ 17,800,000& *190CH 3,382,000
= 1,710,000
== 152,000
Al 1,520,000
CEAQX FIHA XML 1,608,000 965,000 643,000
2 804,000
Al 804,000
402 QItXE0lA 1,608,000 965,000 643,000
= 804,000
Al 804,000
02 QIAX2AMAEX(0IEW) 1,608,000 965,000 643,000
= 804,000
Al 804,000
= 0l & 1,608,000 965,000 643,000
= 804,000
Al 804,000
OLEESRX ZJIHX X3
1,461,818 «1, 100CH 1,608,000
= 804,000
Al 804,000
Helo| S& Rtk LPGRF M & XIS AIY 150,000 105,000 45,000
= 75,000
Al 75,000
402 QIZ2EXIE0l ™ 150,000 105,000 45,000
= 75,000
Al 75,000
02 QUAT2AILEZ(0IETHE) 150,000 105,000 45,000
= 75,000
Al 75,000
= 0l & 150,000 105,000 45,000
= 75,000
Al 75,000
O0elol Sstxte LPGRE &2 XI&
5,000, 000& *30CH 150,000
= 75,000
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SN

X XH -
S =

AEfEE
gorsgtz=ed (&

gl

oy
H
fo
o
S

o2l toIEd (e &
SH-EH. O (AN) - NRANY - B o) ) HDE2
| | Al 75,000
QIZAHS OIMSX OtA3 ESAY 142,500 142,500
= 42,750
Al 99,750
201  LEt2I| 142,500 142,500
= 42,750
Al 99,750
01 At 2eltl 142,500 142,500
== 42,750
Al 99,750
= 0ff &F 142,500 142,500
= 42,750
Al 99,750
O DIMZX 0tA=2 2Y
1,500 *9,500 = 1004 142,500
= 42,750
Al 99,750
N2 N=A222 AXIXNSALY 80,000 80,000
= 40,000
Al 40,000
402 QIZEXrE0l M 80,000 80,000
= 40,000
Al 40,000
02 QIZT2AILEZ(0IETHA) 80,000 80,000
= 40,000
Al 40,000
= 0l & 80,000 80,000
= 40,000
Al 40,000
OldaN=sAE2e EXXNA
160, 000 *500CH 80,000
= 40,000
Al 40,000
AUSIE REAHAMY 33,600 33,600
= 10,080
Al 23,520
201 LBt 49H| 33,600 33,600
= 10,080
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SN

AEfEE

F: oI EN(B#BES/UII)
o2l toIEd (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
201 eI Al 23,520
01 AtR2Zeltl 33,600 0 33,600
= 10,080
Al 23,520
= 0l & 33,600 0 33,600
= 10,080
Al 23,520
OFAHE AUBIIE 2RAEY
150, 000& *224 4 A~ 33,600
= 10,080
Al 23,520
;E@?é?rﬂ BHE0tA M2HA (LPGSH 2 RF Al X2 84,000 0 84,000
= 42,000
Al 42,000
402 QU2tX=201H 84,000 0 84,000
= 42,000
Al 42,000
02 QUAT2AILEZ(0IETHA) 84,000 0 84,000
= 42,000
Al 42,000
= 0l & 84,000 0 84,000
= 42,000
Al 42,000
OLPG 3= Xt & X7 XIJAAS
4,000,000 «21CH 84,000
= 42,000
Al 42,000
ANHEAES (BEES/NA) 1,345,909 962,507 383,402
= 349,481
& 307,393
Al 689,035
XA MEHH 23 1,345,909 962,507 383,402
= 349,481
& 307,393
Al 689,035
OFMf M MEIH 2d2| 82,390 92,908 A 10,518
201 et I| 7,410 4,470 2,940
|
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SN

AEfEE

M NOIBALS(BHRS/K)
BHel: Xtel MEHH 25 (o :&e
x s . Of &t o8 & & 0 A o -
2A-F3H-H(FH) - RN - BES HE o) (713 o) HwE2Z
01 Ateaelt 7,410 4,470 2,940
=0 o 7,410 4,470 2,940
OOFMMES2S T OHLYE A
2,155,0002 %201 £ 4,310
OMEIHDE L QHE ZIY S 2
10,0008 * 105 1,100
OR OMEE TSN EXH HME
400,000 *45 1,600
OOMSES o2 Ao 2INE| &d4Y
100,000 %22 %23 400
206 M2l 923 1,022 99
01 M2l 923 1,022 ~99
= 0f & 923 1,022 A 99
S OFMES maHoY I P
92,3008 * 105 923
301 YsrEaz 74,057 39,057 35,000
12 JERAS 74,057 39,057 35,000
= 0f ot 74,057 39,057 35,000
OO MSAIZ 2y LI 4D ZA3
186,91021 %1121 2,057
OSHOMES U MEIHDBE T2 212
Of AHIEA 40,0002 %302 * 152 x40 2 72,000
OFMES AXME 29 355,739 251,580 104, 159
= 106,721
= 124,508
Al 124,510
101 oI 24t 163,235 113,876 49,359
48,970
= 57,131
Al 57,134
04 JIZH2RAELS 163,235 113,876 49,359
= 48,970
= 57,131
Al 57,134
=0 o 163,235 113,876 49,359
= 48,970
= 57,131
Al 57,134
OFZ 49 A 0124t 52,667,000 *2& 105,334
= 31,600
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SN

AEfEE

HM: [JHSBES(BFEFES/KAHHAH)
S A MENAH B3 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
& 36,867
Al 36,867
Os2 2SS A 2124d] 26,361,000& *1H 26,361
= 7,908
== 9,226
Al 9,227
OJI2ZHH 22X 4HEE 10,938,000& 14! 10,938
= 3,281
== 3,828
Al 3,829
OJI2HH 22X &&= 4,163,000& *14] 4,163
= 1,250
== 1,456
Al 1,457
Os=27x L Hels2 22 AIAY 2
gl 66,800& x4 10 x4 & 10,688
= 3,206
== 3,741
Al 3,741
OM=E(EL), =&z 22
83,1303 *8L 6 3] 3,991
= 1,197
== 1,397
Al 1,397
OFAIIE=E SEXE NN S
60,000 *2 Y *2H x4 3| 960
= 288
== 336
Al 336
O=x=2 Al Ct& S 2 IS P2
200, 000& *2H 23| 800
= 240
== 280
Al 280
201 B2 A Y| 65,904 66,264 A 360
= 19,771
== 23,067
Al 23,066
01 Ar®2telt] 32,280 32,280 0
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SN

AEfEE

HM: [JHSBES(BFEFES/KAHHAH)
S A MENAH B3 (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
01 At 2t2ldl = 9,684
== 11,299
Al 11,297
= 0l & 32,280 32,280 0
= 9,684
== 11,299
Al 11,297
O=2ASA S HEH2Y AIREE 2
150, 000& *123] 1,800
= 540
== 630
Al 630
O=AIl 8 EH 7¢ 450,000 = 1CH *33] 1,350
= 405
== 473
Al 472
OZHHSE, MM S 8 L HMEESS
200,000& «12& 2,400
= 720
== 840
Al 840
OEEE Y HEAMNOIH(ZEE==2X) X
& 2,500,000& x24! 5,000
= 1,500
== 1,750
Al 1,750
OSSHII= /AEHe =HE
400,0008! <128 4,800
= 1,440
== 1,680
Al 1,680
OS2 L2 L 2A2E ABPHIF S
e 20,000& x25= *x23| 1,000
=2 300
= 350
Al 350
Ozx==EX S Nag8 #¢
20,000& 155 63| 1,800
= 540
== 630
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SA MEEAD
Hu: (HSYDS(BEES/KH)

S A MENAH B3 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Al 630
OLPG?R Y S HOIMZEZE 28 #¢
100,000& 108 1,000
= 300
= 350
Al 350
OtMES=2 X220 e E20mA
8,000 *3H x 10 x12& 2,880
= 864
== 1,008
Al 1,008
OAY S SSRZE U YA 01SEY 7Y
150, 000& * 1504 2,250
= 675
== 788
Al 787
OF XX OHEG L HH=2 2
150,000& *4H *23| 1,200
= 360
== 420
Al 420
Ooxlg, AI22d d2HE 2
80,000& *20& 23| 3,200
= 960
== 1,120
Al 1,120
O0tds= XM E RoABHIAAE 29
300,000& x12& 3,600
= 1,080
== 1,260
Al 1,260
02 =s324gH| 28,624 28,984 A 360
= 8,587
o= 10,018
Al 10,019
= 0l & 28,624 28,984 A 360
= 8,587
== 10,018
Al 10,019
OdI ANEZ 800,000& x12& 9,600
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SN

AEfEE

HM: [JHSBES(BFEFES/KAHHAH)
S A MENAH B3 (e &
SNBSS (BH) - MEAY - B2 o @(ijf;lﬁ% HRE2
= 2,880
== 3,360
Al 3,360
Ot 2 100,000& = 12& 1,200
=2 360
== 420
Al 420
OXNHEE, ANSXHAH & SHINLAREES
1,000, 000& *13] 1,000
=2 300
& 350
Al 350
OCHY dE34d & HOIZSTV oIsa
300,000& x12& 3,600
= 1,080
== 1,260
Al 1,260
O0tds=2 72X d| 100,000& = 12& 1,200
=2 360
== 420
Al 420
O0MsEs 2ZXe a2
1,800 *1402| Ef x 128 3,024
= 907
= 1,058
Al 1,059
Oflza, =4 S ANEEY KX
60,000& *x20& 43| 4,800
= 1,440
== 1,680
Al 1,680
O0tMsS =2 E HAAAE X H|
350,000& ~12& 4,200
= 1,260
== 1,470
Al 1,470
03 #AI2HH| 5,000 5,000 0
= 1,500
== 1,750
Al 1,750
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SN

X ZH
S =

AEfEE
P RHEEES (REEE/ A

~

Chel: Tt MEHAH ES (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 5,000 5,000 0
= 1,500
= 1,750
Al 1,750
ONEoIMERY 2Y S HAFTT(ZAME
, 228 8) 5,000,000 =14 5,000
= 1,500
= 1,750
Al 1,750
202 (4 dl 10,800 8,640 2,160
= 3,240
& 3,780
Al 3,780
01 3LHA I 10,800 8,640 2,160
= 3,240
= 3,780
Al 3,780
= 0ff &F 10,800 8,640 2,160
= 3,240
= 3,780
Al 3,780
OOMESTE, ¢ ¥ NRAS S &4
04 Bl 60,000 x5 «3 x12& 10,800
= 3,240
= 3,780
Al 3,780
206 M= Hl 59,800 59,800 0
= 17,940
=~ 20,930
Al 20,930
01 M=zl 59,800 59,800 0
= 17,940
= 20,930
Al 20,930
= Ol & 59,800 59,800 0
= 17,940
= 20,930
Al 20,930
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SN

AEfEE

HM: [JHSBES(BFEFES/KAHHAH)
S A MENAH B3 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
SIFEEETEE
20,0002 +4kg*302 * 128 28,800
= 8,640
== 10,080
Al 10,080
O0tds=2 dgsdsE ¢
20,000& x40&5 = 12& 9,600
= 2,880
== 3,360
Al 3,360
0424 928E £ 7Y
30,000& 405 x123] 14,400
= 4,320
== 5,040
Al 5,040
Onse dANE 2HE & 7Y
3,500,000& *23| 7,000
= 2,100
c 2,450
Al 2,450
405  XHaHFE S| 56,000 3,000 53,000
= 16,800
& 19,600
Al 19,600
01 ANHMLEEFSHI 56,000 3,000 53,000
= 16,800
== 19,600
Al 19,600
= 0ff & 56,000 3,000 53,000
= 16,800
= 19,600
Al 19,600
oolu c-arm & 56,000,000 =1CH 56,000
= 16,800
== 19,600
Al 19,600
MBSO 2te| A< 300,000 300,000 0
= 90,000
== 84,000
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SN

X ZH
S =

AEfEE
P RHEEES($#EES/HY)

Chel: Tt MEHAH ES (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2

01 =AYl < 1,064
Al 1,596

= 0ff &F 3,800 2,880 920
= 1,140
= 1,064
Al 1,596

OMESOAS 2A2/HAMSFE =AY

20,000 x5 »38! 3,800
= 1,140
= 1,064
Al 1,596

301 et AZF 286,490 288,250 21,760
= 85,947
= 80,217
Al 120,326

12 JIEt2 &3 286,490 288,250 A 1,760
= 85,947
= 80,217
Al 120,326

= 0l & 286,490 288,250 A 1,760
= 85,947
= 80,217
Al 120,326

OMEBOYYE Z22HAAY =8 243

286,490,000 14 286,490
= 85,947
& 80,217
Al 120,326

OFA =2 T| o Ol 2 AL 105,520 185,350 79,830
= 52,760
Al 52,760

402 QIZ2HX=0l M 105,520 131,420 A25,900
= 52,760
Al 52,760

02 QAT 2AILEX(0IXTHA) 105,520 131,420 225,900
= 52,760
Al 52,760

= 0l &F 105,520 131,420 A 25,900
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SN

X XH -
S =

AEfEE
NP ES(#EES/HH)

Chel: Tt MEHAH ES (o2&
x - . 0 & o H = ol -
SH - BA(BH) - NRAY - BES e i BlRE2
= 52,760
Al 52,760
OotMssulolog A
1,055,200 * 100K 2~ 105,520
= 52,760
Al 52,760
OsalE 253 X 57,830 49,689 8,141
& 11,566
Al 46,264
101 olAd4| 57,830 49,689 8,141
= 11,566
Al 46,264
04 JIZtHZ22HsE+ 57,830 49,689 8,141
< 11,566
Al 46,264
= Ofl & 57,830 49,689 8, 141
& 11,566
Al 46,264
O0tMEAZ2 BE5& 22|
5,783,000& x10H 57,830
= 11,566
Al 46,264
Ot sSZSTIHMEAlIE XA 120,000 60,000 60,000
402 QUtX=01H 80,000 60,000 20,000
01 QU2 T2 AL S (XEAITHA) 80,000 60,000 20,000
= Ol & 80,000 60,000 20,000
OOtM=s= Tl EASE XA
80,000, 000& =14 80,000
405 RHaHFE SHI 40,000 0 40,000
01 XML SSHSHI 40,000 0 40,000
= 0fl &F 40,000 0 40,000
Otiss X85 7Y 4,000,000 =104 40,000
OS2 PXZMH AIEE X & B 200,000 0 200,000
= 100, 000
& 50,000
Al 50,000
401 AI&BIZ =208l 200,000 0 200,000
= 100,000
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SN

AEfEE

HM: [JHSBES(BFEFES/KAHHAH)
S A MENAH B3 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
401  AIEHIY20iH] = 50,000
Al 50,000
01 Al 200,000 200,000
= 100,000
o= 50,000
Al 50,000
= 0l & 200,000 200,000
= 100,000
== 50,000
Al 50,000
OMEBAS JIsEZ L 25 &Z SAt
21,000,000 =14 21,000
= 10,500
== 5,250
Al 5,250
OEREs S22 9 HtY WA 3A
19,500,000& * 14! 19,500
= 9,750
== 4,875
Al 4,875
A K2 AXNIoE S AEHWH 2
Ab 14,500,000& 14! 14,500
= 7,250
== 3,625
Al 3,625
OHdH FIZE == €00 X ¥ JHl SAt
21,500,000 14! 21,500
= 10,750
== 5,375
Al 5,375
OXFA X& 2 A S - 2A
15,000,000& * 14! 15,000
= 7,500
== 3,750
Al 3,750
OHdEH = =2 HHl 3 A
11,000,000& * 14 11,000
= 5,500
= 2,750
Al 2,750
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SN

A

EH &t ot

HM: [JHSBES(BFEFES/KAHHAH)
S A MENAH B3 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
OZA0IA & %eld € =22 2A
23,500,000& =14 23,500
= 11,750
== 5,875
Al 5,875
OHMIE HHelAl, Ys&E) S S5SA
74,000,000 14! 74,000
= 37,000
== 18,500
Al 18,500
OMES SXS T6) LA 87,500 87,500
= 26,240
Al 61,260
301 oty A= 87,500 87,500
c 26,240
Al 61,260
12 JIEIEAZ 87,500 87,500
= 26,240
Al 61,260
= 0l & 87,500 87,500
== 26,240
Al 61,260
OOtMS= IIloll 24t 437,500 x200H 87,500
== 26,240
Al 61,260
ors=2 =& & 36,930 36,930
= 11,079
Al 25,851
301 ot A= 36,930 36,930
== 11,079
Al 25,851
12 JIEIE A2 36,930 36,930
== 11,079
Al 25,851
= 0ff & 36,930 36,930
= 11,079
Al 25,851
OKFdotMsS=E L2 83 A&
231,000& *30H 6,930
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SA MEEAD
Hu: (HSYDS(BEES/KH)

ool Kol MENH 2S (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 2,079
Al 4,851
ORMHOIMES T2 243 X8
30,0008 *1,0000+ 2] 30,000
= 9,000
Al 21,000
BABMP (BT 2E/HYBEAY) 1,304,821 1,365,457 60,636
2 108,200
Al 1,196,621
SEE R 1,304,821 1,365,457 60,636
2 108,200
Al 1,196,621
ZAOSHY RN AN AL (2T T A 830,700 898,300 A17,600
101 eIl 42,863 40,336 2,527
04 JIAHIEXNSES 42,863 40,336 2,527
=004 42,863 40,336 2,527
OFYUSHY FHNAXAAMY ANES
29 | ol 42,863
-J=3 66,8001 *4% #1262 33,668
-F549 66,8001 *4% 262 6,948
- =oo32yE 20,307,200 *4. 5% 914
—Ay2EE 20,307,2002+3. 12% 634
-nse8E 20,307,209 *1.5% 305
—dmesE 20,308,000 *0.8% 163
—Zleyeye 3,130,000 +7.38% 231
201 Yur2Hl 57,701 36,686 21,015
01 AtR2lH| 14,301 10,686 3,615
=004 14,301 10,686 3,615
OH+2XA TURX HRAULE 22
Nk 600,0002! 23] 1,200
OBZEHTS HOMY 7 AREE 7Y
3,140,000 *14] 3, 140
Oz He==gy A2elll X8
9,961,0002! *14] 9,961
02 Zz2Yl 43,400 26,000 17,400
=0 & 43,400 26,000 17,400
OMA SEHS(LEE) B2
20,000, 000! * 141 20,000
ST YRLSAAY L MYI| 2HED|
TV el 29 S 10,000, 00021 * 14! 10,000
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SN ME{EE D
HE: BRI (BYLS/BHEELY)
el YT (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
2 15,000
Al 15,000
307 9120l H 30,000 28,000 2,000
2 15,000
Al 15,000
02 SINBMAYBE 30,000 28,000 2,000
2 15,000
Al 15,000
=0 & 30,000 28,000 2,000
2 15,000
Al 15,000
OHIMYRS 2atA FE L A2E
ng S 30,000, 000! *14! 30,000
2 15,000
Al 15,000
24~ A 95,345 141,714 46,369
201 er2gl 55,345 106,714 A51,369
01 At el 54,846 106,212 A51,366
=0 & 54,846 106,212 A 51,366
O2altA 2& 222 NN
1,0002 *2,0000H 2,000
OHJIZSE 242 WER HAHM 29
13,622,002 * 14! 13,622
ONSEY AREX S2OHAY)
8,0002 +3% *44! x 122 1,152
OHIISSSSTHAMS A 2E0
1,004,000 +182 18,072
OEIISSAIA DUEE HEH L ZA
Nz 20,000, 000! *14! 20,000
02 2z2YHl 499 502 A3
= 0l 4t 499 502 A3
OEBFATOIER QHES AER SHYS
2, 13021 #1704 %23 499
01 YprEaz 40,000 35,000 5,000
12 JEEN3 40,000 35,000 5,000
=0 & 40,000 35,000 5,000
ORMNALE MH AUBH(Da=M0}
oE) 40,000,000 *14! 40,000
BATOEN 29 132,400 132,400 0
2 66,200
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S MEER D
M BANUD(HURS/HATSUH)
Ol BEEUN CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
Al 66,200
301 LEtEAZF 132,400 132,400 0
= 66,200
Al 66,200
12 JIEtE &3 132,400 132,400 0
= 66,200
Al 66,200
= 0ff &F 132,400 132,400 0
= 66,200
Al 66,200
OEAZQEN QAMEE Xz
25,000& *5,296 Al CH 132,400
= 66,200
Al 66,200
StEGtT M2D HEAY(HTZ 2H) 38,586 43,000 ~4,414
2 27,000
Al 11,586
101 o144l 31,730 36,144 A4, 414
= 27,000
Al 4,730
04 JIZtHIZ22HSE+ 31,730 36,144 A4, 414
= 27,000
Al 4,730
= 0l & 31,730 36, 144 A4, 414
= 27,000
Al 4,730
Ootd & ot M| E3hAr el
66,8003 x5 x 19 x5 H 31,730
= 27,000
Al 4,730
201 et 4| 6,856 6,856 0
01 At 2eltl 6,856 6,856 0
= 0l &F 6,856 6,856 0
Odtd & a7 XD HSAY =HES
22 &€ =AHH™e S 6,856,000& 13| 6,856
SHIFHAIY X 66,920 68, 133 21,213
201  EtI| 44,480 10,333 34,147
01 At 2teltl 9,480 10,333 A 853
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SN ME{EE D
HE: BRI (BYLS/BHEELY)
Sl NI (B9 @
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= Ofl &F 9,480 10,333 A 853
OstZa A4 =2  100,000& «5H »23| 1,000
OmFme ALEH S2HAY
8,000 *4H «541 x 12 1,920
O4N2el YLEF S22
8,000 «3H 541 x 128 1,440
Os&2s M 1,000,000 =14l 1,000
OZA=AI EH S 42E 7
500,000& *53] 2,500
O=sMEX+ 27,0003 x5t A %123 1,620
02 2329l 35,000 0 35,000
= Ofl & 35,000 0 35,000
OMFBBABIHOIS sl8)B BSRY
=2 35,000,000 » 14! 35,000
202 OdHl 7,440 7,800 A 360
01 3LHAbI 7,440 7,800 A 360
= 0fl &F 7,440 7,800 A 360
O 2y 5o, WS, HMOIL S =4
60,0003 x2H 22 «133] 3,120
O=MaAXAME B3 5o S &
= 60,000 x2H 12 13| 120
OBHS0F 2N BUYE 8425 S
A 0,000& *»4H 22 +33| 1,440
OMEZ sBAMME IS, 01220 82
Y ARG FHA 60,000 »2H x4 33| 1,440
ORI2E S LM Y29
60,0003 x2F 12 113l 1,320
308 AXHHMSOH 12,000 47,000 A 35,000
07 JXNSMALREE S 12,000 47,000 35,000
= Ofl & 12,000 47,000 A 35,000
ORIYATIX AlZ2eols 23
1,000, 000& 14 1,000
OSTLLN SHEGHT FEMY AR
= 11,000, 000& 14! 11,000
310 =20& 3,000 3,000 0
02 ZMEE=S 3,000 3,000 0
= 0fl &F 3,000 3,000 0
OICLEN(RXISHH 2R B I5])5 A 2
== 1,200& *2,500% 2 3,000
SAHIHAHMS0H X2 10,260 0 10,260
301 LEtBaE 10,260 0 10,260
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S MEER D
M BANUD(HURS/HATSUH)
Ol BEEUN CER-E
SH-EH. O (AN) - NRANY - B o) ) HDE2
12 JIEt2 &= 10,260 0 10,260
= Off & 10,260 0 10,260
OOl M= X2 10,260, 0003 *14] 10,260
HHSAHU(BFES ) (IIEHIIE 229,206 305,001 AT75,795
= 27,279
= 31,825
Al 170,102
ol 2 gl 161,374 235,849 ANT4,475
= 27,279
= 31,825
Al 102,270
ol 29| 70,446 87,429 A 16,983
101 elA4| 70,446 87,429 A 16,983
01 2= 70,446 72,022 AN 1,576
= 0l &F 70,446 72,022 A 1,576
OAlZte 22+
10,299% x 19 «30A| 2tx 123 70,446
lAYH|(OIMSE = dH 29) 90,928 148,420 AB7,492
= 27,279
= 31,825
Al 31,824
101 ol24d| 90,928 148,420 AB7,492
= 27,279
= 31,825
Al 31,824
03 SIHA2RRE L 90,928 148, 420 A57,492
= 27,279
= 31,825
Al 31,824
= 0l & 90,928 148,420 AB7,492
= 27,279
& 31,825
Al 31,824
O0tMs2dH 4 S FAAIE2eE 24,838
—-JIE2= 1,113,890 x1Z 123 13,367
= 4,010
= 4,678
Al 4,679
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MEHEE
HE2AZH (BZBES ) (JIEH/DIE)
ol 29|

o 2
04 rx
12 12

A o
(J1EH)

SN -SAEAH) - MRAY - BES
- X3¢ 1,113,890 2 #35%+ 1« 12&
—oxtg 75,6202 x 12 +15Y

o

I
3o
4

a

10
0

L0003 x1H 123

Jtal 1,113,890% «60%* 1 23

—X28=g 1,175,200 #35%+2F 128
= PN = 79,7903 152 *2

14,9603 *3Al 2t +2H <12

£ 119,690 » 12 2 128

W

H

H

H

W

H

W

Al

H

H

A

H

W

H

W

H

W

H

4,320
1,296
1,512
1,512
1,337
401
468
468

56,363
28,205

8,462
9,872
9,871
9,872
2,962
3,455
3,455
2,39

838
838
1,078
323
377
378
2,873
862
1,006
1,005
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SN MEIEP D
HH: HH2HAH(SBBES ) (IIEH/IIE

& D=3l (=&
. . - 0] &b o A o ~
SN B SR(BH) - MEAY - BLS e i HDE 2
OMEES 7Y 86,000 «12& 1,032
OJI=geFa S22 0HAHI
8,000 x20& 441« 123 7,680
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